Fall 2017: Math 33B Midterm - 1I

This is a closed book test. Do all work on the sheets provided.

Grade Table (for teacher use only)

Question | Points | Score \
%
2 25 19
3 25 | |9
4 i\,

Total: | 100 QOJ




Math 33B Midterm Exam 2 - Page 2 of 6 11/15/2017

1. (25 points) Solve the equation system below with initial conditions by steps (a) - (c).
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y'(t) = =(t) y(0) =2

(a) (5 points) Show the second order equation that is satisfied by y(t);
(b) (5 points) Show the corresponding initial conditions of this equation;
(c) (10 points) Solve the function y(t) from the previous step;

(d) (5 points) Solve the function x(t).
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